1948. 8. 6

III— Etude quantitative de congruences
dans un cas spécial

1. «0000000000000.000000.>

00 (z1,29,...,2,) 000 ©000,9 000000000000
00, Fi(z), Fy(e),...,F(x) 0000. F=F=---F,=00 ©2000.
(F)D 00000 (G)0000000,X0000000 POO,P
000000000 POOOO ¥YO0OOOO000000000000
000 ¢(z) 0000

=0 mod(F) enP

0D00,00000000.
filz), foalz),...,f,(x) D DO0000000000,

Fi(z,y) =y — fi(z) (1=1,2,...,v)

o000 (z1,...,%n,91,--.,y,) 000000, OO0O00O Fi(e,y),
Fy(z,y),...,F,(z,y) 0 (x) e 00000 (G)OODO.

00 »=10000000000.000,1,2,...,v—100000
0D00000,»000000000000000000.

¢($7y17 s 7yl/—1) — 99[$7y17 s 7yl/—17fl/($)]

0ooo0, ¢ 000 (z,y1,...,9-1) 0000000000, PO
(z0,4° 0000, (2°¢°...,4°_,)0000000000,000, F=
hL=---=F,_,=0000000 0000.00,000000,

$=0 mod(Fy,Fy, ..., F_1) en (2% 4],y )
o0, e—1 0
e—1v=0 mod(F,) en (2°y"
O ¢=0 mod(F) en (2° 4"
C. Q. F.D.

2. O0obObOOoOobooobooooo.



(y) 00D (x)000000000000000 -

(7) : lz; — 2| < r; (1=1,2,...,n)
O0000,L0000000000 (|L]>0).0000,G. Julia000
0,00

Liy) 0O ()L
good,godbboboooboobooggg -
lz; — 2| < |L|r; (1=1,2,...,n).

00 (z1,22,...,2,) 00000000000 Fi(x), Fa(z),..., Fy(z)

oo, jgggbooobbbbooouoooooo -

EO0 FEe® 0000000000000 (0000)0000, 00
000 L, K
0<L<1, K>1

0000, (x°) 0 FO000DO000, ¢z 0900000000
(7) : |wi — 2% < r (1=1,2,...,n) 00000000000,00000
0, R=F=---=F=0000000 0000,

lp(x)| < M
goooooobbobbo,ebbbobobboooono -
o=AF+ A+ -+ AF, pour L(7)

avec |A)| < KM (1=1,2,...,p)
000,4; 0 (x) 00000000

000, (F)0000000,0000 (F)000 200000 (Go)
000 00000000000.00000000 :

Ji(z) (i=1,2,...,») 000 (z) 000 ® 0000000000, O
O (2,y1,...,4,) 000 Fi(z,y)=y,— fi(x) 00000, (F)O (2)€D
00000 (Go) DOO.

00 90000000000.4600000000,900000
0000 >6000000 ©000000 E,000.46000000
000, FE,0000000000. 0000000000000 0
1,2,...,, 00000000, (2),=% 0 B, OO0O0O0O0O0OOOO,0
00000000 Ky, K, >1,00000 :



0o
z;— 2 < p (1=1,2,...,n)

000,00

|fi(x) = fi(z°)] < Kyp
000. 00000, r 0000000000000000, fi(z) O
Cauchy 000 0000000000 O000OO

(V)0 w—afl < lyi =yl <r (=125 j=1,2,...,v)

000 (2,9) 000 () e® 0000000000000, ¢(z,y) 0 (7)
000000000,000000, F=FK=---=F,=0000000
0000,

[P, y)l < M

00d00DO0odoDoOD. Ddo0ooOdo s ooooooooog
oo0oo (b0,00000 KyO éOODOOOD).0OOO,00r00
00,00 6§01

r <24

0D0000000000000000.0000000000
1° fi(z) (i=1,2,...,») 00000000,0000 f(2)0000,

,
95— )] > 2

0ooo0. (%% 00000

0DO0o.000,
oz, y) = Ap(@,y) Fp(x, y)
0000,4,0 ()0000000,000

4
|AP($7 y)| < ;M

gob.oooooooobon.

[00]000,000000000000000,00000000000.



r .
2° W~ @) <5 (=12

000. k=0,1,2,...,v 00

or(@,y) = ¢l(@), filz), (@)oo Fr(@)s Yrras -+ 5 U]

ogoogd.
eo(z,y) =¢(z,y), @ulz,y)=0
identiquement O 0 0. ¢x(2,y) OO0 ODOOO

r : :
(0) Jwi—all < g Iy —ofl <r (=12, 5 j=1,2,...,v)
1
ubobooboobobooobaoog.

Yr(x,y) = pr—1(z,y) — er(z,y) (=1,2,...,v)

0ooo, (6) o
|z, y)| < 2M
oooo,
p=t1+vot Yy
ooo.

0oo00,pOd 1,2,...,,00000000,00000
T

. . 0 . 0
(v) : lzi — 27| < 8Ky ly; — ;1 < I,

(1=1,2,...,n;j=1,2,...,v)

00D,00000 ¢,(e,y) 000000 :
(6)0000 ¢,=0 mod(F,) OO0D0D0O0,00000 globalement O

¢p($7y) = Ap(amy)Fp(x,y),
000 Ay(z,y) 0000D0,000.00 () 000
p=AF1+ AFy + -+ ALF,

ooo.
(¥ 0DODODOOO (6,7 00,y 00000

7
() lyp — Yyl < r



0ooo,0 1, @ 000000000. 00,0040 6000
00 5/800000000,C000000 ¢, 0000,

r
|Fp(€77717 s 777p—17y;)777p-|—17 s 7771/)| > Z

goo.od

8
|Ap(€77717 s 777p—17y;)777p+17 s 777V)| < ;M

000. 4,0 (5)0000000000, () 00000000000
000.00,000000000000000. C.Q.F.D.

3. Mémoire VII O Probleme (C,),(Cy) OOODODOOOOOO.

Probleme (1) — 00 () 000 ® 0 900000000 EO DO
00000000000 (F,F,...,F)0000000 ¢&(z)0000
00,0000 =0 mod(F) DODD,®0 |[®|<MOODOOO
00.0000,FE000000,0000 A4(x)0000000000 :

S =AF + A+ -+ AE,

|A;(x)] < KM (i=1,2,...,p)
o00,K0Oé0O (DODO MOO)OOoOOooOOoOoooDO.

Probleme (2) — 00 (x)000D0 900000000 £0 DO
00000000000 (B, Fy...,F,) 00000 po, MOOODO
oooo,» 000 pOO0O,0000000000 pobobonod
0000000000 (v)o (ynoooooooooUoooo MOOO
0000000 () 00000, (v), (") 0000000 contigus O
00000000, 000000 ¢, ¢"0 ()Y)N(y") =(6) 00000
O,¢-¢"=0 mod(/) D00D0O0OO0O. D000, FO00O0ODOO
0000 ¢(») 0, FOO0ODOOOODOO

¢(z) = p(x) mod(F)

oog,rFo0boood

| (2)| < KM

0000000000.000,K000 {(7),¢(x)}00 M OOODO
oooooo.

4. 00 (x)000 00000000000 (000000000
0000000000000) (F,F,...,F)0000.¢0 1,2,...,p



00000000000,00000 (F,F,...,F) 000000
(Go) DDDDOD, 000 (A, F,...,F,)0©00000 (H) O0OO
0D000. 0000000000

00 () 000 9000000 »00000 fi(2), f2(2),..., f(2)
OO0, 00 (21,0 Y1,.-.,y,) 000 (2)e® 000 Fi(z,y) =
yi — fix) (i=1,2,...,») 00000, OO0 (F) 0000000000
000 (Hy) OODO.

0ooooo (kL F,...,F,)0®000000000000000

¢01,2,...,p—100000000000,00000 Fi=F= =
F,=000000000000000,F,,, 000000000000
00 00000.0000,00000 (F)00O0 ()0000000.

goooooboogoo .

000000000 (F,F,...,F,) 00000000000000
(Hyooo.

5. Probleme (1) DOOOOOODODOOOODO :

00 (zy,23,...,2,) 0000 (0000)0000 ALA"OO0,A'D
A’00 »0000000000000000000000000, A'U
A=A, N'NA"=A,00,A,000000000.F0FECAD0OD
0000000000000. ADODODODOODOD0O0O00 (A,F,...,
F)000,A, 00000 (Hy), (1) 000000, @) 0 ADDODODO
000000,A'00000 (1)000,A”00000 (2)00000
0000000000 :

(1) q):OélF1+042F2—|—"'—|—Oépr
(2) O =01+ ok + -+ B,

000 a; (1=1,2,...,p) 0 A’000000 ()000,4 0 A” OO
000000000000,00000000

lail <M, B <M

O00000.00000,FO000000,0000 A4i(z) 0O

S =AF + A+ -+ AE,

|A2($)| < KM



00000000000000. 000 KO @) 0 (000 MO0)
Doooooooo.

00 p»=10000000.0000 (/)0 /ROOOOOOO. A/
0= 000. 00,000 q DOO0OODOOO. OO0, ay=0
pour Ap. 00, 0000000. 000,000,1,2,....q—1,4< p,
I A

o,

ai(z) = fi(z) =vi(x)  (i=1,2,...,9)

0000,A,000,0000
YiFv+yveba+ o Fy =0

000.000 (F,F,...,F)000 ()00000, Fi=---=F,_;=0
00 F,00000 00000.00,A,0000

’quO mod(Fl,Fg,... 7Fq—1)

oogd. O, Ay O
|7q|<2M

ooo.
00000000 E0,00000000000000,00000
0DO0o0O00O0. AUA’=AD00000,A' 0000000000 E
0O,A” 0000000000 E/00,00000000000000
0D0000000000000, E=F UE"00000O0DOO0O0OO.
E'NE"=E,0000,E, 0 A,00000. E,0000000000.
00,00 (A, A", AAg) O (E,E", E,E,) 0000, (F)000000
0000,0000000000000,00000000 (&,G",G,Gy)
Dooooooooo.
00000,000000,¢-10000000000,00 (Ag,Go)
000000,G,0000,00000 ¢(z) O

Yo =ciby e+ g1 by
les(2)| < Ky M

00000000000000.000 K, 0 (00 (G)00 dép. OO
0)® (00 M)O indép 000DDODODO.

0¢000,Cousin 0000000, 000000000 a(2) 0,
E"00D0D0D0D0000 b(z) 00 E, 00000000

a;(z) — bi(z) = ¢;(x) (1=1,2,...,¢—1)



ooo0o0o0D00000oOoO. 00, (G,G",G,Gy) D0ooooo,
0000000 (BLE" E,FE)00000,0000,F 00000 E”
oooo,

la;(z)] < Ko(K M), |bi(2)] < Ko(K1 M)

00000000000000. 000 K, O ® (00 M) O indép O
000000.00 Cousin 0000000000000000
F'00 E"0000000000 00000 (3),4 0000 :

(3) @ = (a1+a Fy))Fi+(aetaoFy) Fot- - A (aga+aga Fy) F

~|—(04q—a1F1—a2F2—- . -—aq_qu_l)Fq
(4) O = (B1+b01Fy) Fi4 (Botbaly) Fot - 4 (Bgi+bgi Fy) Fmr
‘I'(ﬁq_blFl_bZF2_‘ . '_bq—qu—l)Fq

00000,000 000000, F, 0000 EO0O0OOOOOO
00000000 §(x) 000000000000, 000000000,
00 FO0O0OO0 E"000000,000 KsMODOODOO. OO0
0,Ks0 ¢ (00 M)0D0O00000O0O00.
0ooo

U =0 - JF,

00000, E 0000
W] < (14 K3)M
o000, E 0000
W =01F+ 0+ + 06, 1 Fyy

E"OOOoO
U =0F+6F+ 46 Fy

oooooooo. ooo (o), oooo0ooooooooooo
gooog,ood

|67 < KsM, |87] < KsM (i=1,2,...,q—1)

ooo.

00,00000,(E)D (¢)0000 (H)=(H',H", H Hy) 00O
00000000,(H)0000000000000000. 00000
00000,00000,000 (-1)00000000000000
000000,F000000000 &(z)000,0000000

V=c P +eafo+---+eg 1ty



oooo,
lei] < K4M (i=1,2,...,q—1)

o0ooooooo. ooo Ky O (I)(DD M)DindépDDDDDD.
0oo,
S =c1F+efo+ -+, 1 b1 + 08

|0] < KsM
0 FOOOOOOOO. C.Q.F.D.

gogbooobooooboooooo -«

Probleme (1) O, 00 (F)DDOO (Hy), () D0DDODO0, 00O ®
oooooooo.

gobooobooooooboboboboan.
6. Probleme (2) D0O0D. D0OO0DOOOOO :

00000000000000000, A'00000000 fi(z) O
A"ODOODO0O00 fo(x)00,AD00000000 (Fy, Fy,y..., F))
000,A,0000000000000.000,00 A,0000 (F)
000000 (1)000000000,A’'000 |f(z) <M, A”0ODO
O |fz(z)]< M OOOO,000 EO00OOCOOOOOO y(z) O

Ix(z)| < KM

O00o0o0ooo,A00 A"O(FOOODO)DOO0O0OOO,00

x(@) = fi(z) ou x(z) = fa(z) mod(F)

00000000000.000 KO fi(2), f(e) (00 M)O0000
oooooo.

00 000000000 (G)o ()0 (A)Doooooo.oon
O00,A,0000 (F)0000 Probleme (1) 0 (Ag,Go) DO ODOO
oooo. oo,

V(@) = filz) = fal2)
00000, ¥(x) O A 000, |¥(e)) <2M O0000,00000
P(z)=0 mod(F)0D00DD,0000 w(e)d GoOOOODO

Y=o P+ agly + -4 ap b,



jaila)| < KiM o (i=1,2,...,p)

000000000000000.000 K, 0 () (00 M)O00OO
oooooooo.

0000 a;(¢) 000,00000000,F 000000000 a(z)
0,EF"000000000 bi(z) 00

@) < KoM, [bi(e)| < KoM (i=1,2,...,p)
ogooo,00o00
a;(x) — bi(z) = a;(x)

O00000O0o0o0oooUD. 000 K;O A, (00 M)OODO
goooooo. oooooad

X'(2) = fi(z) = (@ Fy + aeFa + - - -+ a, F),

X”(x):fQ(w)_(blF—l_bQFQ—l_—I_prp)
0000,y,x"0000000000 x(z) 000000. 00 x(z) O
gooooooooood. C.Q.F.D.

000000000000000,0000000000,00000
0000 (0Ooo0):

Probleme (2) O, (F) 000 (Hy), () 0000O00,000 000
ooooo.

7. gbooobooo,bobpboooooboo

Lemme 00 (2) 000000 00000000 (K, Fy,...,FE)
000,00000 F=FK=---=F,=00 900000 x000. %
0000000000V OO0,900000000000000000
©,000.0000000,Xx0000000000,¢()0VO00
000000000000000, VODODO |e(@)|<MO0000, Do
00000000 @(2)0,DNnV 0000

¢(z) = p(x) mod(F)

0000, Do 0

| (2)| < KM

00000000000000.000 KO, ¢(z) (00 M)OOOO
oooooon.

10



O 0DO0Oooo® 0% e ediiioooud,oon
(A) () e, |F@)l<p (i=12....p)

0D000. 00 p0000O000O00,AceV 00000000. y 0
000000,00 (¢,y) 000000

v = Fi(z) (1=1,2,...,p)
000,000
(€) (x) €D, wl<p (i=1,2,...,p)
ooooo sooa.

O Gi(z,y)=y; — Fi(x)  (i=1,2,...,p)

0000, (G) 0000 (C)000 (Hy), 1) 000. p(z) 000 (2,y)
0000000000,SeU 00,00 ¢()00000000 UOO
00000,000 |p|<MOD0000,p0p<p00000000
000000,000000000

(Co) () € Do, |yl <po  (i=1,2,...,p)

000000 W(z,y) 0,000 [¥(z,y)]< KM OODODO,00 SO0
00 ¥(z,y) = ¢(z) mod(G) 000000000000 00. 000 K
0 e(x) 0000000000,

ooog, O(z) = U(z,0)
00000, ®(2)0 D,0000000,000 |8(x)|<KMDOOO,
00 00000 ®(z)=¢(z) mod(#) 000. C.Q.F.D.
8. ODODODOOOO0OO0O0OODODCOOOOOO0O,b000d Probleme
()obooooooooooooooooooo.

000 (Lemme) 000000, ®(z)0©000000000000,
~000000000,v0000000000 ai(e)(i=1,2,...,p) 0
00O00,0000

Q= Iy +agky+ -+l

ogooooobgoob. ¥ boooobooooboooobo.ooooo,» 0
ovooogoo

()| <M, Jou(z)| <M

11



0000,0000 A(2) (i=1,2,...,p) 0, Do 000

¢:A1F1+A2F2—|—"'—|—APFP7 |A2($)| < KM

000000000000000. 000 KO &) (00 M)O000
oooooooo.

00 0000000000O00000. 00,0000 S$O0000
0000000,0000 p00000O000,A0000000000
oo.

00 $00000000000. ai(e) 0 (z,y) 00000000,
SeU 0000000000 U000000n,000 |az)|< MO
0000,00 () 000000 /0000 90, €D’ e®,p/ <p
00000000O0,000

() () €D, |yil<p  (i=L2,...,p)

00000,0000000,0000 a(z,y) (i=1,2,...,p) O, (C)
ggono
lai(z,y)| < KiM

D000, (C) 00 $00000
a;(z,y) = oy(z) mod(G)

goboboboobooobooboooo.
o0 SoOobooooo

a;(z,y) =0 (1=1,2,...,p)

goo.
gooooo

\Il(x7 y) = (I)(w) - (a1F1 +agFy + -+ apr)
00000, ¥(s,y) O (CHYOODODODOOO,000
|ql($7y)| < I(2M7

K,O ®(z)0000000000,000000000,00 £000
000, (C) 00 0000

U(z,y) =0 mod(G)

12



ooo.
00 po0 po<p 00000000,000

(Co) () € Do, |yl <po  (i=1,2,...,p)

0000. (Gy,Gy,...,G,) 0000 (¢ 000 (Hy), () 00O0OO,
0500000000,0000 Bi(z,y) (i=1,2,...,p) 0, (Co) O

\IIZBlGl—I—BQGQ—F"'—FBpGp, |B2| < K3M,

Ks;O ¢(»)000000000O,00000D0000D00O0D0O0O. O
0o,
AZ($):QZ($,O)—BZ($,O) (i:1727-'-7p)

00000, A(x) 0 ®0000000,000
|Ai(2)] < (K1 + K3)M = KM

S =AF + A+ -+ AE,
0oo. C. Q. F.D.
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